XYZ,=98.07,100.0, 118.22

B,= 258, (b,~b,) Y

3= a5 [ (X=X ) /Y
by=byl[z/§

a0=1, by =-04

%= 0,110, B, = 0,700
Crg=[AF+BA

6 OstwaldFarben (o)

von maximalem (m)C,g
linearen Farbenraum (C,g . Y)

A
bl

46

Lichtart C00, Y,, =100, Y,=25 -

Name Bereich X, Y,
R, 567_775 7045 54.48
Y, 492_775 8338 9554
G, 492_567 3754 66.15
C, 380_567 52.25 7063
B, 380_492 39.32 2958
M, 567_492 8517 58.96
W,,380_775 98.07 100.0
N, 380_775 24.51 250
2, 380_775 17.65 180

[YEY
2571 ‘04555 0.3523566 487
3485 039 04468571 463
3483 02709 0.4775535 53¢
118.210.2167 0.2929 437 596
112.06 02161 0.1625 463 571
113.090.3311 0.2292 5350535
11822031 03161 100%
2055 031 03161 25%
2128 031 03161 18%

Parameter:

Y & Name
Lichtart COO
Y,=100 Y,=25
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